Gen Chem I (CHM 202) Fall 18 Dr. Hahn MWF 10 am Quiz VI 11/12M Exam #
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Please show work on all guestions for full eredit & partial credit. (20 total pts).

1. a. Given the following Lewis Dot Structure and the VSEPRT chart, draw the 3 D structure using the
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b. Does the molecule have vector sum which is [(zero dipole moment ) or Qon zero dipole moment)]
(circle one) Draw the individual dipoles in your figure above. (2 pts) T

¢. The primary intermolecular force for the molecule 1s¢'("\hydrogen bo 'E@’rg) or (dipolar interaction) or
{London or VDW forces)] (circle one) (1 pts) S

2. Ifldissolved 1.56 grams of Na Cl in 100.2 grams of water to make up 101.3 mL of the solution.
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a. Show your calculatrn mass % of Na'Tl in solution.’ (% mass = mass s Iute/mwt1on) (4 pts)
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b Molahty of Na Cl (m = moles solute / kllogram solvent) (4 pts)
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3. If Kb =0.51 °C kg/mol and the b01hng point of water is 100 °C, if I dissolve 2.53 moles of sugar-in— '
100.0 grams of water, what would be the boiling point ? (4 T = Kj msoiue) (6 pts) ‘,s *rst Q,Wﬁz%
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Extra Credit: For the reaction 2NO; » 2 NO + O if the NO; rate is 9. O x 107 atm—;%ﬂi;‘what is them‘
mation of the Oz in this same interval of time ? Show work or explain. (4 pts) ’
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